WHEATSTONE BRIDGE


AIM: The aim of this experiment is to find the value of a number of resistors using a Wheatstone bridge.

Although this is now mainly a historical piece of equipment that has been superseded by modern methods it provides a very useful way to understand potential difference in circuits.

YOU WILL NEED:

A metre wire bridge as shown in the diagram, a jockey, a cell (1.5 – 3 V), a standard resistor (S), a centre zero galvanometer, leads, a set of unknown resistors (R) – these need to be of similar value to S so that sensible balance points can be found

WHAT TO DO:

Set up the circuit as shown below with the standard resistor at S and the unknown resistor at R.

Balance the bridge by obtaining zero qalvanometer deflection. Record the values of L1, and L2

Repeat the experiment with a number of unknown resistors.

THEORY:

Hence calculate the value of R from the equation:







R = [L1/L2]S
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